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GROUP - A

1. Explain, with illustrations, how Immanuel Kant draws an

analogy between the universal law of morality and the

universal law of nature. Do you agree with his contention ?

Give reasons. 8+2=10
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2. How does Kant’s Formula of the Kingdom of Ends spring

directly from his Formula of Autonomy ? Explain. Add your

own comments. 8+2=10
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Answer in brief (within 200 words)
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3. Why, according to Kant, must freedom be presupposed as a

property of the will of  all  rational beings. 5
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4. What is the aim of  Kant’s Groundwork of the Metaphysic

of Morals ? 5
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GROUP - B �•�����Ï�•�ß�Z�i���Ê�Õ�Ê���h

5. What is the Original position ? What is its significance in

Rawls’s theory of  Justice ? Discuss. 10
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6. Why do the contemorary virtue theorists consider them -

selves as ‘Neo-Aristotelians’ ? Discuss. 10
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7. How does the virtue theory handle the problems of moral

dilemma and moral luck ? 5
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8. What kinds of problem may arise when instead of actions,

character is treated as the object of evaluation ? 5
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